& SUBARU

f - i .;
¥ -Premium

series

\ W e
cvoeie




& sSUBARU EX-Premium, the Extreme Engines.

EX-Premium engines are designed to meet professional
users' demands, with extremely high durability and reliability.

M EXtremely Silent - Soft Tone Quality

EX-Premium engines are 2dBA quieter and softer in tone than other engines in the same class.

The quiet and soft tone is achieved by:
- A reduction in mechanical noise realized by employing sophisticated OHC system.

- Employment of an optimized capacity Rigid Muffler.

dBA 3m ” dBA 3m

60 1400rpm 3000rpm ‘: 3
EX17 EX17 o B
— Competitor's engine k}“ — Competitor's engine =
|
EXly| et
M’M %M
20

H [ Competitors' engines

Sound Comparison at each Frequency ( Sou_nd4Lde_ve| rem—
average in 4 directions

= EXtremely Easy Start - No Kick-back

Reliable Starting and Less Pulling Force are achieved by:

- Sophisticated Mechanical Compression Release System
as well as newly designed Combustion Chamber.

- EX-Premium engines start instantly even at minus (-)
10°C(14°F), without any perceptible kick-back.

0

Pulling force of Recoil Starter I Competitors ——

S EXtremely Easy Maintenance

Extreme ease of maintenance is realized by:

- High Parts Commonality Between Models
simplifies maintenance & lowers repair cost due to fewer parts for service.
More than 90% of component parts are common between more than two models,
including Muffler, Intake and Exhaust Valves, Valve Springs, etc.

Furthermore, more than 50% of component parts are common
among EX13, EX17 and EX21, such as Chain Guide, Air Cleaner, Ignition Coil, etc.

- No special tools
required for routine maintenance, assembly and disassembly.



That's Extreme!

EX t_angin_es are superior to
engines in the same class.

E EXtremely Advanced Technology

Extreme reliability and durability are achieved by:

- Heavy Duty Chain Driven OHC System
Oval type case-hardened steel links enhance
performance andresist stretching, which result
in extended maintenance free operation.
Completely New Main Bearing Cover Design
Flush-mounted main bearing cover with lower
moment of deformation significantly increases
reliability and engine life.
Superior Cooling and Lubrication System

Engine life is extended through the high efficient
cooling and precision lubrication systems.

Large cooling fins are engineered into the crankcase,
cylinder and mounting base.

Large Ball Bearings on both ends of crankshaft

for maximum stability under demanding loads.

- Cast Iron Cylinder Liner resists wear.

EXtreme Power and Performance

Extremely Higher Power and

Lower Fuel Consumption are realized by:

- High speed and homogeneous combustion achieved by
sophisticated Pentroof Combustion Chamber which
includes Intake and Exhaust Valves located at

optimum angle.
- Straight Intake Port with minimal air flow resistance.

Environmentally friendly.
EX-Premium engines comply with EPA and CARB
Emission Regulations in the USA.

Extreme application compatibility

With four versatile models, existing competitive
slant-cylinder engines can easily be replaced.

By
5 1§

VCombustion Chamber




= X1 3 -Prem

mium

341(13.43") 297(11.69") (METRIC KEYWAY SHAFT)
225(8.86") MUFELER 145.3(5.72")
ML ERSOVER EXHAUST OUTLET
SPARK PLUG
Nl -
0N ~
o ©
ol W
o = |
A8 b
gl o /\ X
© 4 =
, Yz 7 AN \ 2 @
5)
L (7
\N, . :
=1 R g
METRIC FLANGE g S i
4-MBx1.25.6H, 16 DEEP of I —=
'® SAE A FLANGE S &
(4-5/16-24 UNF 2B, TAP 0.63") O
32.55(1—.{:"_73") MOUNTING FACE
65.1+0.25 (2.57") 92.3(3.63")
2:5b; s
(557 g 35.7,80(3.15)
‘Tﬁ- (141" 56.6 (2.23")
EX13D PERFORMANCE CURVES N-mlkgf-m] 80 5 39.6(1.56")
3
90 o9 & (0.20)
T 3
0 e ﬁ 9l s2 50097 i 2
P 0 o7 s | Tlema] s ©
[PS]  kWAS MAXIMUM TORQUE e UO,EC; T g SR D dl A
® — 5 | @
50 | 2 0 © m
35 ) ©
- | = Q
v MAXIAUL OUTPUT | A=A MBx1.256H23DEER B | S ,; ©
e = Metricg 18mm [ 3 \
L1 Keyway Shaft E CYLINDER CENTER
25
? s L 1 ///\ b l
5 20 =l ) i
[ /% L1 8 2HOLES-98.5
Bzo | 44 \Gwmwousw;h B 5(0.20") (0.33")
Recti;.xMEr«lDEoPowenoumrrmx;’E\ z VIEW Z
/'/
1.0
=]
10 | Y 195 |7.6(03)
oE Taper 1/5 |077)
2o Metric 1/5 taper
0 8g Generator Shaft
L o M8x1.25-6H 18DEEP,
2000 2400 2800 3200 3600 400C
— 15(0.69") 55.3(2.18" |3(0.12")
REVOLUTION SPEED rpm [ 12(0.47"
Powelr Cﬁjrvtis arehcorrecteg to stagdard %g _’_<
sea level atmospheric condition and are =l :
developed from test engines equipped Metncgljlsfmm
with standard air cleaner and muffler. M14x1.5-6H J7/ ump aft
58.5(2.37|30.12"

235
(]U\F ~

T(

SAE® 3/4 inch

' EX’i?;?]
«n)) PREMIOM

/16-24UNF2B-TAP-0.91")] A b

Taper2-1/4
PER

T

Keyway Shaft

5

§ FOOT

g 72(2.83")

N / 60.6(2.39"

el SAE 2-1/4 taper
1l Generator Shaft

(5/16-24UNF2B-TAP-0.71")
o~

SAE$5/8 inch

Pump Shaft

SUBARU

P sy PEATEES U
s

SAE® 3/4 inch

Pump Shaft




— 5 [ B
7 -Premi
7 =rFremium
354(13.94") MUFFLER 304(11.97") (METRIC KEYWAY SHAFT)
231(9.09" MUEFLER GOVER™ 145.3(5.72")
EXHAUST OUTLET
SPARK PLUG
cooo @
0 °
o o TPy
=1 | o . P
dld & ~ Rloita
o A B ) P\
o = T
2 @
= 10 O N 5
T] Y o 9
6 & ; A\ ) 3 & @&
O
@ 0f
WG A (T
2o Pl =)
=" METRIC FLANGE %' g,' %
4-M8x1.25-6H, 16 DEEP ol =
D SAE A FLANGE —la
© (4-5/16-24 UNF 2B, TAP 0.63") %
o S MOUNTING FAGE .
JIL GAUGE, 32.55(1.28" 92.3(3.63")
65.1:0.25 (2.57")’ o 35.7, 80(3.15"
(255" 2 ar 56.6(2.23")
g 39.6(1.56")
EX17D PERFORMANCE CURVES  N.mikgf-m] go S
12.0 I:l\: ab e I
| S 17 i0| 95 so0.97y i fd =
R ] R s 2
MAXIMUM TORQUE 100 Lo 0 5Hg+0.03 s 5k (LBBL\ p © |
[PS] kw A | i L% os ﬁ Qm 0 s alS (541 % ©
60 _ 45 | i e ) ° g
Pl TORQUE i ©
MAXIMUM OUTPUT | A [ Bl { Y,
10 / 2 ©|
o ] A-A MBX1.256H23DEEP/A [ § -
%% Metricg20omm | V| || £ \\CYLINDER CENTER
o | a0 . Keyway Shaft - cé 1
o | —
A |4 E !
25 A 5
? %0 ; \ 3 2HOLES-¢85
- v OIS TR o 5(0.20") (0.33"
= T T T ~
g Yhece m.r-npmutﬁouwnm'es\ gg VIEW Z
20 s —— ]
L—1
o 1.0 195_|106042)
L = Taper 1/5[077]
0s ) Metric 1/5 taper
8g Generator Shaft
oL, M8x1.25-6H 18DEEP
2000 2400 2800 3200 3600 4000
20(079)564(2.18)|3(0.12)
REVOLUTION SPEED rpm — 16(0233\
R
t d S 5
QUL 81155, 805, ST i, e = Metricg 20mm
aryeoed . fom & Ganer an muf‘ﬁq £p M18x1.5-6H - Pump Shaft
i o sase3)|a012)
ofg 475 8% o
Qo8 0.19)

M e e

| ~ EX17
= FREMIUM

SAE®3/4 inch

g ‘ (5/1624UNF2BTAPOS] Keyway Shaft
B Taer21/4
=] PER FOOT
§ [72(2.83)
~ 160.6(2.39)
E SAE 2-1/4 taper
=i Generator Shaft
/16240NF2BTAPO71Y 93]
o~ 9|0
& as
3 b
Bl sese3) |35014)
i
Sse™ (. SAE¢5/8 inch
J_/ Pump Shaft
(5/B-18UNF2A)
s
ég 585p3) [2501)
i L T i SAE ¢ 3/4 inch
(3/4-16UNF2A) - Pump Shaft




EX2 1 -Premium

366(14.41") 311(12.24" (METRIC KEYWAY SHAFT)
e MUFFLER GOVER 145.8(6.729
EXHAUST OUTLET
SPARK PLUG
. 1 = )
D
Dy
i =]
B8 o Q 3
S o N ® s ~ —
o NS =
Q& = =3
ol 1 SO =
Bl Te) m
e o & (e N — @B_
g & mz Q 0 2 r
N > o
R =l _W‘ N
S ‘; - :‘9
N @
4| g
| 5
METRIC FLANGE ol - CARBURETOR
4-M8x1.25-6H, 16 DEEP —| N \N
SAE A FLANGE ] e
32.55(1.28" (4-5/16-24 UNF 2B, TAP 0.63" DEEP) MOUNTING FACE FUEL DRAIN
65.1+0.25(2.57") = 92.3(3.63")
(2.55) S 35.7, 80(3.15"
% (1.417) 56.6(2.23")
EX21D PERFORMANCE CURVES N-mlkgf-m] %D 5 39.6(1.56")
=l
. ~ .20"
T I B s T o8 " 0320)_
[ ib| &6 ~50(1.87) o =
KW MAXIMUM TORQUE ——1,, T ﬁ = o8 0 oo
= =" 1.2 n 4003 < '+O— N [(1.38 L\ -p )
[PS] 52 TORQUE X 5H9 o a2l A+l Q
70 ™ 9 ©
5.0 h (% ©
=
Lo S A-A MBx1.25-6H ESDEEP/[’\ g \
40 | A = s % 8 /
so | 1 Metric 20mm ol
™ s T | Kearehart 5 CYLINDER CENTER
A / \ <8l .
a0 | a0 |\ N
\ et ("’3 2HOLES-¢8.5
25 7 STEROUTPUT ® -¢8.
ﬁ a0 | RECOUIERDED PONER QUTPUT RAGE o 5(0.20° .95
20 0
L —— ; VIEW Z
Ea| ., L +—T1| d\ 3
| |
w | ™ 185|10.6(0.42")
0| \ Tager 1/5 [077)
08 R Metric 1/5 taper
0 \ Generator Shaft
T 0 2000 2400 2800 3200 3600 4000 W/
REVOLUTION SPEED rpm 20(0.79")55.4(2.18") | 3(0.12")
[ 116(0.63")
Pow r curves areh correcte tto standard §§ ‘|_< .
jgvega?mospﬁ Eric CDFIA_]I | ﬁ?gﬂlppﬁef [\Pﬂetncghe?tmm
Wlt stan ard air ceaner and mu M18x1.5-6H _]7/ ump a
& ssseay a0z
% - 2|~ 43.5( )
w[8475 868 S| kY
EEBINE 7{ SAE®3/4 inch
L J7) Keyway Shaft
(6/16-24UNF2BTAP-0.91" WA
| A-A 0)
/ 2 Taper2-1/4
S PERFOOT
© [72(2.83"
,,:‘ 60.6(2.39"
ST SAE 2-1/4 taper
Il Generator Shaft
(5/16-24UNF2BTAP-0.71)/ &
& 98
gg ~|585(2.3")| 35(0.14%
B 8 1081 B
Qs ‘I’( SAE®5/8 inch
N Pump Shaft
{ (5/8-18UNF-2A) L
SUBARU &
— oo
§g 58.5(2.3")| 25(0.17)
2lc
i - SAE®3/4 inch
1) Pump Shaft
(3/4-16UNF-2A) /




420(16.54") MUFFLER 351(13.82") (METRIC KEYWAY SHAFT)
270(10.63" MUFFLER COVER 170.8(6.72")
a— SPARK PLUG
L EXHAUST OUTLET L
EXHAUST OUTLET_ | /
™~ cos am
° e P
[ c— ) I
g S =T
a ° ° (e »)
20" 30° ’ |
‘Q R
/ e
= ©
S o
/ \ \ E ()
4 S 9 o o
SAEB SOCKET < ; S 7
MAB'O%&") N o ! ) 2 —
S 751 \ ; D, - |
'%'%‘52154749\ 555 e 710.7(5A004~ & =
X —— ] i (4,9‘435“) g ®
o ((59-50279" ol
992 gl —
OIL GAUGE SAE B FLANGE —
OO (4-3/8-16 UNC 2B, TAP 0.71" DEEP) @)
METRIC FLANGE 4-M8x1.25-6H 18 DEEP . EUELDRAIN\ CARBURETOR
SAE B FLANGE (4-5/16-24 UNF 2B TAP 0.7 1'DEEP) Metric STD 45 . 63(248)| 107.8(4.247
FLANGE 0.18Y || 60(2.36")| 57.5@2§) 96|(3.78")
EX27D PERFORMANGE CURVES Nemikgf-m] 4208591 4.5 | 50.3
9 M8x1.25-6H |[ 35 ©18) 198 7l067)
= I ot 71.38)
T T= 180 j}g =
— MAXIMUM TORQUE =160 ;5 ? — 1
15.0 1y 250, =
S| kW =S B G g I ol
e S 7m88%% ¥ |& i &=
65 (@) Ll +0.019 =2
MAXIUM QUTRUT L z 028) 8 12 N\ Aq e 10l
80 | 60 AN & 0| g = ) 162
o5 ol B\ ® eI —= 0 ol
70 [ L a S| o8 @ = \ =
5.0 = =
z s 1.10 b=
60 | 45 / \ Metric p25mm he ) 3 /
N \ Keyway Shaft S CYLINDER CENTER
50 4.0 ONTINUOUS QUTFUT N/ >
™ a5 \ MERDED M%
10 2-9105
40 | 30 /\ METRIC STD MOUNTING FACE | O|— 13(051) 0417
= SIS
? 30 | 28 \/// \ ale VIEW Z
ITTT Tl MetricH LANGE  WMERCMOUNNGFACE | o
5 20 Metric F G FACE
% 15 \ for Generator and F’ump forGenera}Erand Pumy 102.8(4.05") CYLINDER CENTER
| 1 \ EIN 1340195)| 5252077
0s o amexi2seH1sDEEP  I2|  fag e XMOUNTING HOLE.
o L, ‘ o8 Ol =8 o | 2 lla0m@
2000 2400 2800 3200 3600 4000 7S *00?@’ _ = Y2 [ 4(0.16)DEPTH OF SOCKET JONT
—— [ ) f b= e
REVOLUTION SPEED rpm )
g s i
Pover 2irvte o corectad i stapcer iz 7 B
oye opeg rom Psat engines equippe NS 28(1.1')DEEP @ Generator Shaft
with standard air cleaner and muffler. o=
N [®) |.79.5 313)
20| 555 |[la0)
401013 155081 %] (2.19") ]| 41016')0ePH oF sockeT Jont
@15 e ‘<_
e l'gletricghE?_tmm
. - y um a
: 0 EX27 M20X1.5-6H P
Sy
- 3 SAE B FLANGE SAE MOUNTING FACE _| 103.3(4.07" CYLINDER CENTER
. 93366 _[53(2.09")
_ 722(284)  [———4<> MOUNTING HOLE.
#25.4.8026 (1.00) oG, . 60.5 4.5 MOUNTING HOLE
6.30799%3 m.?,g 238) 1 0.18")
0&9) = CHY( SAE ¢ 1inch
fans
7/ Keyway Shaft
7/1620UNF
2B-TAP 28(1.10")DEEP, INSIDE HOLES
) 110.5(4.35)
(Tepe Cented) [T 57 2(3.83)20.|
Sg Q% T [
8|S s (
L= v SAE 2-1/4 taper
< ] Generator Shaft
) i 5/16-4UNF 2B-TAP
18(0.708")DEEP
suBARU éa:ga-m
sy 93.5(3.68")
26
102) (106§=§ 45(018)
|
HE SAE¢ linch
Pump Shaft

T T
1-14NS2



SPECIFICATIONS

Model EX13-Premium | EX17-Premium | EX21-Premium I EX27-Premium
Type Air-cooled, 4-cycle, slant single cylinder, OHC, horizontal PTO shaft
Bore x Stroke mm (in.) 58 x 48 (2.28x1.89) 67 x 48 (2.64x1.89) 67 x 60 (2.64x2.36) 75x60 (2.95x2.36)
Piston displacement ml (cu.in.) 126 (7.69) 169 (10.31) 211 (12.87) 265 (16.17)
Continuous output kW[PS](HP)/rpm 1.9[2.6](2.6)/3000 2.6[3.5](3.5)/3000 3.2[4.4](4.4)/3000 4.4[6.0](6.0)/3000
2.2[3.0](3.0)/3600 2.9[4.0](4.0)/3600 3.7[5.01(5.0)/3600 5.1[7.0](7.0)/3600
Maximum output kW[PS](HP)/rpm 3.2[4.3](4.3)/4000 4.2[5.7](5.7)/4000 5.1[7.0](7.0)/4000 6.6[9.0](9.0)/4000
Maximum torque N - m[kgf - m] 8.1[0.83] 11.3[1.15] 13.9[1.41] 18.6[1.9]
(Ibf « ft)/rpm (6.01)/2500 (8.34)/2500 (10.26)/2500 (13.74)/2500
Direction of rotation Counter clockwise as viewed from PTO shaft side
Fuel Automobile (unleaded) gasoline
Fuel Tank capacity liter (US gal.) 2.3(0.61) | 3.2 (0.85) | 3.2 (0.85) [ 5.6(1.48)
Lubricant Engine oil SAE 10W-30, 20W, 30W
Lubrication Mechanical splashing type |
Lubricating Oil capacity liter (US gal.) 0.6 (0.156) 1.0 (0.260)
Carburetor Float type
Ignition System Transistorised
Spark Plug NGK BR6HS
Governor Centrifugal flyweight type
Dry weight kg (Ib) 14 (30.9) 15 (33.08) 16 (35.28) 2} (46.31)
Dimension lengthxwidthxheight ~ mm 297 x341x318 304x354x335 311x366x335 351x420x410
(in.) (11.69x13.43x12.52) (11.97x13.94x13.19) (12.24x14.41x13.19) 1 3.82X16.54x1 6.14)
OPTIONS
Model EX13-Premium EX17-Premium I EX21-Premium | EX27-Premium
Lighting Coil 12V-15W, 40W 12V-15W, 40W, 200W
Starter STD: Recoil +350mm Rope +350mm Rope, + Rotating Screen
J Electric Starter - O | ©) L ©)
Air Cleaner STD: Semi Dry Dual Elements, Pre-Cleaner, Oil Bath, Remote
Muffler Deflector, Spark Arrestor
Speed Control STD: Lever Cable (Remote) Speed Control, High Speed Fix
Fuel Tank option +Gauge
Separate liter (US gal.) 12 (3.17) 12(3.17) 12(3.17) 16 (4.23)
Qil Sensor O O O O
Generator Specification O O O @

*Generator Specification : Large and low profile Air Cleaner, large and low profile Muffler, Air Guide and Spark Arrestor.

*Specifications are subject to change without notice.

& SUBARU

FUJI HEAVY INDUSTRIES LTD.

INDUSTRIAL PRODUCTS COMPANY
1-1-21, Irifune, Chuo-ku, Tokyo 104-0042, Japan
TEL:+81-3-6228-3657 FAX:+81-3-3553-7114
http://www.subaru-robin.jp

O : Option available, - : Not availéble

ISSUE EMD-EL0201

Printed in Japan 2011.02© &




